ZŠ Sačurov, 5. ročník

Vstupná previerka         A
1. Doplňte čísla do sčítacích pyramíd:
a)                                                              b)                                                                                                          
                                                                                    900
                                                                                     438

     28          71          85                    227

2. Aké čísla sa skrývajú pod kartičkami?

49 +    A      = 100                      B     + 29 = 230                            
                     C    - 65 = 324                              752 -     D     = 317               
3. 
